Section 3 Session 9
“ , ANSWER B : " ANSWER

| T 6+6= 1 Double 8 is
2 9+9= B 2 of20is

3 7+7= 3  Double kis
k  Shade half. b 2of12s

5 A quarter of 12 is

| 6 Three-quarters of 12 is

7 5 multiplied by 10 is

8 5 multiplied by 5 is

5 Shade a quarter. 9 10 divided by 5 is

10 35 divided by 5 is

B -  ANSWER

What is
1 1 of LO?
6 Shade three-quarters. - 2 aquarter of 40?

3 three-quarters of 40?

L a quarter of 20?

5 5of 18

6 4O shared between 5?

7 5x5= 7 double 8?
8 10+2= - 8 double 4 and add 2?
9 15:5= 12 7of207
10 7x10= 10 double 7?
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